DELHI PUBLIC SCHOOL, RAIPUR
TERMINAL ASSESMENT- | (2022-23) (MODEL PAPER)

SUBJECT: MATHS DATE: MARKS: 50
NAME: CLASS:I SEC: ROLL NO: MARKS OBTAINED:
INVIGILATOR’S SIGN: EXAMINER’S SIGN: RECHECKER’S SIGN:

I. Answer the following. (10x1=10)

1. Multiplication is also known as repeated

2. The number just before 200 is
3. groups of 2 are 18.
4. 8lessthan 15is

5. The answer in multiplication is called

6. An orange is an example of which solid shape?

7. | have 3 sides and 3 corners. Which shape am 1?

8. Aisthe letter in the word ELEPHANT.

9. 2tens+ 16 ones= tens + 6 ones

10. 36 - =0

II. Do as directed (14x2=28)

1) (a) Rewrite in increasing order.179, 197 , 167 =

(b) Write expanded form of 116

2) Write one addition and one subtraction statements with the answer 28

(a) Addition statement: (b) Subtraction statement:

3) Write the number which is

(@) 10 less than 69 = (b) 20 more than 52 =

(c) 30 less than 37 = (d) 40 more than 46 =
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4) Add the following.

(a) 45 + 18 (b) 17 +43 +9

5) Find the difference and check your answer using addition
Check

6) (a) Write multiplication sentence for 3+ 3 + 3 + 3 =12

(b) Give repeated addition sentence for 4 x5 =20

7) How many of each do you see?

Sleeping lines Slanting lines

Standing lines Curved lines

8) Show as repeated addition and multiplication.

Addition sentence =

Multiplication sentence =

9) Use the number family of 25, 9, and 16 and write any one addition and subtraction facts.

+ = - =
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10) Find the number which is:

(a) 2 less than double of 7 = (b) 5 more than 4 x5 =

11) Write in words.
179 =

112 =

12) Use the help box to find the answer. | 30, 117 , 100, 175, 65

a) A number between 112 and 118 b) Double of 15

c) A number with 7 at tens place d) Smallest 3 digit number

13) Complete the pattern by drawing the missing shapes.

14) There are 5 flowers in a basket. How many flowers are there in 9 such baskets?

Ans

[]

lll. Solve

1) Write related multiplication fact for-

a. A packet has 5 pencils. How many pencils are there in 7 such packets?

X = pencils in all

b. How many wheels are there in 10 cars?

X = wheels in all
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2) Rama had 75 marbles. She lost 16 of them. How many marbles are left with her?

Sol

[]

Ans

3) Aclass has 14 boys and 28 girls. How many students are there in the class?
Sol.

[]

Ans.

4) Below list shows the favourite games of class 2 children. Look at the list and answer the

following. Favourite games Number of children
Cricket 12
Chess 6
Football 18
Badminton 20
Carrom 22

a) Total number of children who like cricket and football?

b) How many more children like badminton than chess?

c) How many less children like football than carrom?

d) Which game is liked by more number of children?

e) Which game is liked by 18 children?

f) Which game is liked by least number of children?
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